___——'—-_'_"—————__._______

PART - A

Computer Related General . T Gt ATAT [
Knowledge
1. g][:;:};l:}rlgogm{en;ment portals and 1. Pt o maste Gidd 9 I IRl A
urpose 1n the following, firema
List-[ List-II Y P
(a) Sachet (I) tocngage ﬂ adr -1l
citizens in (a) H= (1 fofa e siit
decision making fifer fmfor o
and policy et
formulation
' e &1
(b) Umang  (II) Allows citizens : S Y
to store, share (b) SHT (I P
and verify FEITEST I
documents and SIHTOT 9 Rl
certificates T dufed,
online. ;
: | AT
(c) MyGov  (IIl) to provide single
window access wrfﬁaaﬁaﬁr
to various FHfd
government (c) TTESeNfE  (IM1) fafr=T
services. =
.. , (MyGov) ATl & Thel
(d) Digilocker (IV) for complaints .
of fraud in Rergeh! Tg= e
online financial F |
transactions. () fesfiemam  (1v) smaems fada
Choose the correct answer from the 3T
options given below- rETET T
A. aIV,bIL el dIl v ¥
. a-1V, b-II1, c-II, d-I POV S SEE T S S Er:l:-:

B
C. a-lIl, b-1V, c-II, d-I
D. a-Il, b-I, c-III, d-IV

A. a1V, b-III, c-1, d-II
B. a-IV, b-II, ¢-II, d-I

C. a-IIl, b-1V, c-II, d-I
D. a-II, b-1, c-I1I, d-1V

SPACE FOR ROUGH WORK / % &md & fory smre
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2. Whatis the main muees
What is the main purpose

ol using

Altavista?

A! L Y l \
Streaming videos

B. Secarching the Internet

C. Sending emails

D. Playing music

H_q;a_ﬁfmlmvism) Eﬁfmﬂﬁﬁﬁﬁm
sy SR I

A, fe g

3, ECCR TN

C. e e

D, @fia s=THT

- ——

LS ]
.

? - - Ll .
Which of the following statement is

correct?

A.

B.

C.

L LI .
Fedora® is a commercially

licensed operating system.

‘MS excel” is an example of

system software.

Operating system is a program that
acts as an intermediary between a
computer user and the computer’s
hardware.

D. All of above are correct

3. et & @ e A A 8

ey e 36§ H R T 8l
D, I @t FEl ®

4. Which of the following is used to
measure the printing speed of INKJET

printer?

A.
B.

C
D

Paragraph per minute
Line per minute

Words per minute

4. INKJET fiet t o fer ahi 71 & fere
Prffiae & & ferget SwaT fofaT ST 87

A. S wie fime
B. &g ufd fire
C. e ¥fd e
D. O Wi e

ol 2049

Tt

SPACE FOR ROUGH WORK / T @4 @ ferd 9e
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5. Which of the following component is . frAfafad & 9 &5 |1 g9 §ig I ueE
responsible for performing addition T G & 7T feeier 27
and subtraction operations? ; .
A. Arithmetic Logic Unit B e
B. Control Unit B. g -qﬁz
C. Memory Unit C. i Iifl'c’
D. Control and Memory Unit D. @i 3R EHI gfAe
Which company owns the search . T §5T 7T o1 ATfeTeR hiA € Sl 22
ine G ? o
;ngl;; oogle A 3
. Microsoft
IS
B. Amazon &
C. Apple C-_ LN
D. Alphabet Inc. D. 3ITHEE 35,
. Which of the following is not anti- . = w e ur i A A TE

virus software ? 29
A. Avast A 3
B. Norton

; B. A
C. Solaris
D. Bitdefender C. WIS

D. faesthex

SPACE FOR ROUGH WORK / % % 3 fory g
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LA A TRk

8. T (Google) TTdl am % feT

8. Armr
| . ange the following steps to creat€ a :
oogle account- _ Erfirftad =T 1 ad A H Ay
(a) fln In your personal details Fi-
o :
i) v&rrie, username, ctc.) (a) mmﬁ—mﬂﬁw W (AT,
erify your phone number Tl a71fe)
(c) Set T,
a strong password . =
(d) Accept Google’s terms and (b) oo e A G ,
‘conditions (c) Th HSTed q'I'HEI'éF £2 1A FT-
(e) Visit the Google sign-up page (d) T (Google) £ grat 71 At =
A. e,c,a,d,b T iCargea!
B.
4, ¢, ¢C, d: b (c) TE‘E’T (GOOg!EJ W'maﬁmm
C. e,a,c,d,b ab
D. e, a,b,d,c Pt 6,057
_ , B. a,ec,db
C. e,a,c,d,b
) D* e: a’ bs d! c
9. Which of following is/are example of 0. e 5 & @ arA E geT A 3ATE /)
search engine? () IR REL
(I) Lycos (II) Bing
[11) 7= V) e e
(III) Mamma (IV) Red Hat (i , )
A. Only I and III . L
B. OnlyIandII B. Fad a1l
C. Only L IL III = C. Fad [, 11, 11T
D. O )

SPACE FOR ROUGH WORK / % T4 & ford s7g
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10. Which of the following statemen 10. Frerfaftaa o 4 =9 978 Fa3 g8 27

is/are correct? (1) 35 % “To' Hieg i o7 v =me
(I) Youcan include as many

addresses as you want in the ‘To’ W T F ki
‘field of an email or as many w3 forer o gafer femzm 2
addr'esses as arc allowed by A fRu ML Rl
) PnE sysira (1) % A 457 wgE R To 3 Ce’
(I1) The sam.c email address can't be it WBrest i 2Pt g S T 2
entered in both the *To’ and ‘Cg? U . .
field. (111) 3 i Bee e § Edl F
(I11) ‘Bee’ field in email keeps the 431 wEE 31 T Al B T
recipient’s email address hidden EHEGIE
from evFryone else who rcc_civcs A el
the email.
A. Only1 B, Faa1dI1I
B. OnlyIandII C. FaAIFIII
C. Only I and III D. I9ie Eft
D. All of the above
11. Match the following- 11. & St TR
~ List-1 List-11 -1 T=i-11
20
(a) 2KB @ 239 bytes (a) 2KB M 220 bytes
IMB 1) 277 bytes
(b) an 2% by %) 1 @) 2% bytes
(c) 1GB (1) 2™ bytes: i
(d) 1TB aIv) Al bytes (c) 1GB (IIT) 27" bytes
Choose the correct answer from the (d) 1TB V) 711 bytes
options given below- I e Wﬁﬁ?ﬁﬁﬁﬁﬁmﬂ%—

A. a-IV, b-l, c-III, d-1I
B. a-l, b-III, c-II, d-IV
C. a-1V, b-Il, c-III, d-I
D. a-IV, b-], c-1I, d-1II

A. a-1V, b-], c-111, d-11
B. a-I, b-III, c-1I, d-IV
C. a-IV, b-1i, c-III, d-I
D. a-IV, b-I, c-II, d-11I

SPACE FOR ROUGH WORK / T& & 3 fordy wmre
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In the question given below, there are 12, N9 oo ud if 70y gt v 71, B, U7 R

two statements lnbelled ns Assertion gt SIRTERART [As) 7 R O [R]
[As] and Reason [R]. ARIC(RY |
Assertion [As] : Operating system is a -~ |

et [As] ; Sf e v

software program that enables the
computer hardware to communicate

iz S & S g e A

and operate with computer soflware, AT WA % |4 HATC A AT

Reason [R] : Ubuntu is not an open- ) 3 e AT B

source operating system. T (R ; 37, S i e faem
" ¥ 5. Bk " Ei 2 Gl

Choose the most appropriatc answer

from the options given below- RN _
A. Both [As] and [R] are truc and [R] Prer Rreproit 1 o Trd 2T ST -
is the correct explanation of [As]. A. [As] @[R] 25T =g £ v [R], [As]
B. Both [As] and [R] are true but [R] £y g AT FA 2
is NOT the correct explanation of - o
[As] P B. [As]F[R] 2 wet € @ [R], [As]
' 5
C. [As] is truc but [R] is false. =61 Tt AT Tl Hel el
D. [As] is false but [R] is true. C. [As) @&l & e [R] Terd el

D. [As]TTeid & @il [R] a2l
13. fafafad § @ 239 (YouTube) & Hgl

13. Which of the following are correct

uses of YouTube? ITANT BT E B?
(a) Streaming videos it AR
(b) Uploading personal videos ' (@) -
(c) Watching live broadcasts (b) wAfETa fifedl SIS FT
(d) Sending emails. (c) TS TEROT S&HT
Select the correct answer from the (d) oA HSHT
following options- Frafafaa faeedl § & & I TH-
A. aand b onl : N
d A. Faeia s
B. aand c only
C. a,bandc B. et a3 e
D. a,bandd L a,baﬂ'{c
D. a, b3d

SPACE FOR ROUGH WORK / T& @14 & ford smre
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j4. Which of the following memory uni

is smallest in storage size?

A.

B.
Ci
D.

-________.—-———-—'—'__—————-—.._,_._—_

15. Arrange the steps to scar
information on YouTube-

Random Accesg Mcmory

Cache Memory
Hard Disk
Read Only Memory

(a) Open YouTube
(b) Browse through the results
(¢) Watch the video

(d) Enter the scarch query

(e) Click on the search bar in

o0 w >

YouTube

a,c,e,d, b
a,e,d, b, c
a,d,b,e, c

d,e,b,c,a

14. Fefafaa § @ =26 i oorfl gz =

ST | A B 27
A, Tzu o gum
13, Ao uth
e w13 fzor

D). {1z At aur

712774 (YouTube) T AHFIT TFA F

feru Foriferfraa =poni 7 @71 Za A

=y e Fi -

(a) F-247 (YouTube) 74

(b) fToTTet  wrord A A2 F

(c) Hifsmzd

(d) @IS F 7t AL

(¢) F-Z3F (YouTube) i 5% A1 7 f77%

-

FL

a, c,e,d,b
a,e,d,b,c

a,d,b,e,c

o 0w>

d,e,b,c,a

SPACE FOR ROUGH WORK / & w1 & R e
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16. =< graat d A ust ST T

16. In word processor what is the correct
Sequenice for performing mail merge o7 TEY SHH T 87
(a) .select and cditing recipicnts S $ U.'&’m )
(b) insert merge ficld () : e
(c) select ‘start mail merge’ () e e
(d) pre*vlcw result (d) sh-oq e
(e) finish and merge (c) Frfrm g wst
A' G, 4, b, d, (& |
B. b,c,a,d, e -
C. ¢,b,a,c,d, 2 b:d’&;
D. b,a,c e d b : “d
a,c,e
17. Which of the following groups are 17. iﬁql%;ii’gifﬁ@'aﬁqmﬂﬂ" heret ¥13
only input devices? feamsa €2

() Mouse, Keyboard, Monitor,
Joystick

(II) Mouse, Keyboard, Printer,
Light pen

(II) Mouse, Keyboard, Scanner,
Joystick, Light pen

(IV) Mouse, Keyboard, Trackball,

Touch Screen, Microphone

‘Tand IV

Il and IV

111 and IV

Il and III

O 0wp

o 0w >

(1) TS, ?ﬁfﬁ‘s‘, fife, Fﬂ?ﬁa"f
(111) A4, TS, T, Safe,

SIECRE]
(1v) T, FeTE, T, o T,
AR |
[ARIV
11 3R IV
III 3T IV

IT 37T 111

SPACE FOR ROUGH WORK / 1% T4 & forar wre
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18, Armangc he lollm\lng memory (8. fustfetfend i) o eIl 41

::Ltll:::x:::“ it in descending order T A AN st B e i

() Nibble M) Bit () faalet (hy fae

() Mega Byte () Kilo Byie (¢) A () et anka
() Giga Byte ' () Mg

:\. C}C:“d".‘“a‘;\h
A.c ¢ d-a-h

B. C:}d?‘cf“abh

(' bl
D, b>d>adg e D, hd-a—rc-e
19. A program that scems to do one - 19, U1 SN S, F1T ARTEAT 7 AT TATA A 3
function but conceals another functi 3 2 s
als ¢ ction > e ZaT e fogrr A 2, FEArT B
is called- A s e
A. Virus A. 99H
B. Trojan B. ilﬂq
C. Worm C. I
D. None of the above D. Ik & B T

SPACE FOR ROUGH WORK / & & & foray wmrg
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20.

Consider the following statements and
select the correct answer from the
options given below-

Assertion [As] : Altavista is a scarch
engine used to find videos.

Reason [R] : Altavista is an older

search engine known for text-based
searching.

A. Both [As] and [R] are true and [R]
is the correct explanation of [As].

B. Both [As] and [R] arc truc but [R]
is NOT the correct explanation of
[As].

[As] is true but [R] is false.

D. [As] is false but [R] is truc.

O

20.

Ereferfiaa FoT ot fa=m 31 = fao

Wﬁﬁﬂﬁﬁﬂﬂaﬁfﬂ? '

shraT [As] 2Tt (Altavista) Th

Iﬁﬁqﬁﬁﬂﬂﬁmﬂ%ﬁdﬁi%

ferr fopr et e

F1u (R ; AR (Altavista) T

fgrr-nrds'fz:r%rﬂﬁ:p:{wm@h%

fetr tr1 =TT 2

A. [As] ¥ [R] 71 771 & A7 [R], [As]
F1 T ordrETT 2]

B. [As] i [R) A &A1 &, #AF [R],
[As]aﬁrm.‘rm:fﬁmrn—sff%|

C. [As]n‘zﬁ%,rlrﬁﬂ[mm%l

D. [As]W%,éﬁ?[R]ﬁéT%

21.

Arrange the given Memory units in 21. & 75 HAI gehTEal I T TEE 7 F

increasing order of their access time- s 7w 1 satea =7

(a) RAM (b) Registers @ W g

§ o, e 0L e
() TE fom=

A. b<c<a<d<e
B. c<b<a<d<e
C. a<b<c<d<e
D.

b<c<a<e<d

A. b<c<a<d<e
B. c<b<a<d<e
C. a<b<c<d<e

D. b<c<a<e<d

SPACE FOR ROUGH WORK / T @&1d & forar sre
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12, Which of'the following tunction is
llSL‘d tor Ct‘llllltitlg L‘]nl)[\' cells

in MS

excel?

A.

B.
C.
D.

23. What is the main use

COUNT()
COUNTA()
COUNTBL:\NR()
COUNTEMPT‘\'(}

of multimedin?

22.

PAF

foroar o a0 awder wun vigoer vapug g
srelt Nery ) i ey fen s dan
e

A. COUNT()

13, COUNTA()

C. COUNTBLANK()

D. COUNTEMPTY()

A R (e R I R

A. Creating presentations A, waafant e
B. Storing text documents only B. hael T3 ArArTA SuEa 01
C. Making phone calls . —
. ! hieT FIAT
D. Drawing sketches =
D. @hd FAHT
24. Arrange the following steps to protect 24. aégmﬁiﬁmﬁﬂléﬂ F13 F fr=1
a word document with password in o &l gl 9 § afed Fiu)
correct order. 3 o -
RIER] %I Hoddd il
(a) Go to file and select Info @ e = 5 ::rq;r N
(b) Open the document in word (b) X . D) )
(c) Select encrypt with password (c) T foar qreae Herae 1
(d) Select protect document (d) UIeE SR Heae
(e) Type the password and confirm (e) UTHIS T1EY L T UGS F5H FL
password. _
A BLdce A. b,a,d,c,e
B. b,a,c,d,e
B. b,a,c,d,e . il bn s
. d,b,a,c,e
C. d,b,a,c,e _
: . d,b,a,e,c
D. d,b,a,e, c

SPACE FOR ROUGH WORK / ¥ &t & fordy srrg
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Which o 1, lollow 25, Pu=ffea i A Ay 'HH?TE?Q]\

ing is n general

use of CD/pypy-
PR s
- Audio-Vigyq| stor e .
B. Liy co o A. ST W
Ve streaming ,
C. Web browsing B, @rgd 1‘«;’."“*”
D, Instant messaging C. z‘mmfa‘m
| D, e da ST
- _
26. : -
How many bits are there in a nibble? 26. v frer Wﬁ@ﬁ%?
A, 2 A2
B. 4
B, 4
C. 6
D. 8 €0
D. 8
27. Match the following- 27. frfafaa o e Fit-
List-I List-1I G- -1
g oueto gi) Delpstaraie (@ st () FEmEEe
14€0 ocumentation '
(c) Text  (III) Visual Storytelling (b) =hfE (D e
(d) CD/DVD (IV) Sound effects (c) asure  (UI) ¥ FeHl et
_Choose the correct answer from the (d) E/EEE (1V) S IC B IC]
options given below- ﬁﬁt{ﬂﬁﬁﬁﬁﬁﬁﬁﬁaﬁ?ﬁﬁ—
A. a1V, b-I1I, c-I, d-I
: A. a-1V, b-III, c-II, d-I-
B. a-II, b-I1I, -1V, d-I -
B. a-II, b-III, c-IV, d-I
C. a-I, b-III, ¢-1, d-IV e
D. a-I, b-IIL, c-II, d-IV | > A Il O
D. a-L, b-III, c-II, d-IV

SPACE FOR ROUGH WORK / T& @4 & ford wre

1
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mich of the following formats arc 28, frefatad i & F W JTeT HATHAR T

typically used for CDs and DVDs? i i e ¥ foru 3w fre <rd 87
dio C y
(a) Audio CD (b) DVD-ROM (a) afifeay € (b) =T
(c) Blu-ray (d) CD-RW ‘ e
Select the correct answer from the (c) L Ky N (d) -W T
following options- fr=fafaa forpear Y HE I ?ﬁ-
A. aand b only A, et a 3Th
B. aandconly B, Hada AN ¢
C. a,b,andc¢ _
C. a,;b A ¢
D. a,bandd
D. a, b3d
19. Consider the following statements 29. 2fFm AR gl?FITffﬁTh 35 e o
regardil_lg the Static RAM and fr=fafaa T 9T femm &R
Dynamic RAM: (1) TR, S W e |
(I) Static RAM is slower than o Bt 21
Dynamic RAM. NG
(1) Static RAM is costlier than (1) wfeen T sreTEeR W & weli gt
Dynamic RAM. S
(I Static RAM uses capacitors. (IT) SRR o SRR 1 ST T 21
(IV)_ Dynamic RAM uses capacitors. a) T T ST T S9ET St
Which of the above statements are
true? l
A. Only1 I 1 W I T HU T 82
B. Only I and III A. FaA 1
C. Only II and IV _B. FHaa AR
D. Only II and III C. Faet IR IV
D. A 11 3R 11

SPACE FOR ROUGH WORK / T% & 3 fory sme
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0. Directions : For the below Asscrtion

[As] and Reason [R] choose the
correct alternative.

Asscrtion [As] : The main purpose of
input devices is to display information
to the user,

Reason [R] : Input devices such as
keyboards and mouse are used to feed
data into the computer system.

A. Both [As] and [R] are true, and
[R] is the correct explanation of
[Al

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[A].

C. [As]is true, but [R] is false.

D. [As]is false, but [R] is true.

. E{%ﬂ;:ﬁé{ﬁf{m?ﬁﬂ[ﬁus]ﬁg;ﬂwﬁﬁ

[R] 7 fem A% forrey =70

F [As] 392 Fzarza 71 gz v
FT (R] : F1AT A 728 34 FqZ
Feerrga =1 2mim gz faezm 4 221 2

A. ZHi (As] A [R] 7 %, H [R],
[As) =T T& ordras 21

B. @Mi[As] @7 [R] &E £, &4 [R],
[As] =1 &1 D710 21 €

C. [As] &212, @3 [R] 7T 21

D. [As]TTed 2, St [R] 521 21

SPACE FOR ROUGH WORK / 7% &4 & fordr wre
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PART - B

Hindi, with Grammar fe==l, zamenor wife
% .
31. RIS T HEt anf . 33, @@l Sifear gl
A e = aver wr A1 =111
A. T FR e (a) @1 () T, o, e
B. it nfiy & e (b) T (1) T8 TF @R
c g (c) ferdrawr (111) #, qw, swAT
N %_mfm ) BFET (IV) g, @,
D. A &7 & v o e AT 2
- = forg e ferenedi H & w3 -
A. a-l, b-IL, c-II1, d-1V
B. a-I, b-III, c-IV, d-II
C. a-I, b-II1, c-I1, d-TV
D. a-II, b-IV, c-I, d-III
32. f= ARt % = A wreg 2 34. faw e g =1 @ e IRE-
U [As] : AT T HUF T=T FI T () s - Re=et
AT SIS T 747 372} 33T I (1) =y - e
Tk 7153 e B (I11) 3T — 9] St
T [R] : &1 5071 o el I GHfireh 71eg (V) qevE - g
Fed Bl (v) fereft—3ger
At e e et o & wel IoC- A. 158, 1198, -, [V-9d,
A. [As]) 7TeTq & 3TR [R] G&T & VA S

B. [As]@el® 3T [R] +ft vl 21

C. [As)&& 2 & [R], [As] F1 &
weftentor TET Bl

D. [As] 3T [R] G € 7Terd &l

B. I-7erd, II-8et, 1I-Terd, V-9,
o~

V-adr

C. I-98, II-Terd, HI-TTerd, [V-§al,

V-Ted

D. I-7dq, [T, [1-98T, IV-9e,.

V-Teld

SPACE FOR ROUGH WORK / t& &1d & fordy g
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35, @El A
. o g e @l
p. it A TE 5 S
c. ¥ sfiadt i fom|
D, % o WAR R T
—_— .
General English AT AT
36. Select the most appropriate synonym 39, ... Players sang ----- song in honour
of the .giv_en word. of ----- Chief Minister.
Hospltal1t?! A. a,a,the B. no article, the, the
A. Audacity B. Insolence C. the. the. the D.the. a. the
C. Generosity D. Indecency ' o
37. Sudhir respects the teacher- 40. Match the following-
Assertion [As] : The teacher is : List-I List-11
respected by Sudhir. * (a) Capable of () Concise
Reason [R] : The active object “the being corrected
teacher’ has become the passive (b) To walk (1) Illegible
subject. N aimlessly
Choose the correct answer from the (c) Handwriting (IIT) Amble
following options- cannot be read
A. Both [As] & [R] are true, and [R] (d) Brief & tothe ~ (IV) Corrigible

point _ _
Choose the correct answer from the
options given below-

is the correct explanation of [As].

B. Both [As] & [R] are true, but [R]
is not the correct explanation of

[As]. A. a-IV, b-IIL c-IL d-T
C. [As] is true but [R] is false. ~ B. a-IL, b-TIL, eIV, d-T
D. [As] is false but [R] is true. C. a-IL, b-IIL, c-I, d-IV
D. a-I; b-Il, c-II, d-1V
38. He has not read anything ------ |
Tuesday.
A. from B. over
C. since D. for
SPACE FOR ROUGH WORK / T% T4 & for& wrre o
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" GeneralMaii—— ,
ral Mathematics amr= it

i The least number of 5 digitsl whicly

“!hﬁn dIVIdEd b)’ 39 41 5, 6 the
remainder is 2 in eacl, case, is-

42.

41, gt st o gad 21 e, 3, 4, 5,
¢ & Rrnfera w1 ¥ U fafy i doee

A. 10017 2 STV T 8, 2-
B. 10012 A, 10017
c. 10022 3. 10012
D. 10032 c. 10022
D. 10032
Directions : For the below Assertion 42. fRanfda : 1= AT (As) 7w (R

[As] and Reason [R], choose the
correct alternative -

Assertion [As] : Cube and cuboids

fou 2, 9et faeheq =1 74m Fifso
o [As] : et oft 21799 7 foo =7 o

have the same volume for any T =T TTIGH AT BT 2
dimension. (R] : 51 T et 2 ST, At
Reason [R] : Area of cube with side a
is a°. FuhT T 4T a @l
A. [As] @d [R] BT @ & 3T [R] &
A. Both [As] and [R] are true and [R] : [Asl e | f] T d y
is the correct explanation of [As]. [As] T
B. Both [As] and [R] are true but [R] B. [As] It [R] SHI & @ 9 [R],
is not the correct explanation of [As] %1 G I &l
[As]: C. [As] T B[R] 7T&a &l
C. [As] is true but [R] is false.
. . D. [As] 7Teid & W [R] 6 8
D. [As] is false but [R] is true.

.

20492.7CJ-NYC-REC-M . * S s D& I” “““““rm“m _
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<o got 65% VOLES in an
d::::z %von by 3645 votes. Then

the total number of votes polled if
there werc two candidates-

A. 12450

B. 12350

C. 12250

D. 12150

m successive discounts are 25%,

10% and 8%. Then the single

. e AT U T YT 65%71%—51?@\‘-

el o€ 3645 Tall & Sfian 5 et ey
wae g1 Afe a8t a1 yemedt 9

A. 12450
B. 12350
C. 12250
D. 12150

- afe IHUT L 25%, 10% T 8% &, o

S5x+7y =11 theny:x =
Choose the correct answer from the
options given below-

a-11I, b-1V, c-1, d-I1
a-1V, b-1, c-II, d-1II
a-II1, b-1V, c-II, d-I
. a-II, b-1I1, ¢c-1, d-1V

oow>

el B il T R-

equivalent discount rate is- T 2 R
1]
A. 37.9% . 3T9%
1)
B. 37.8% B. 37.8%
0
C. 37.7% C. 37.7%
)
D. 37.6% D. 37.6%

45. Match the following- . & LT 18-

List.I o List-II =i S0
(a) 5:‘;1; ?it;;SO milliliter (I) 33:22 (a)MZSDﬁFﬁ?ﬁE(t{a" @ ‘“_33:22
() If4x + 3y : 6x+5y (1) 12:18 2 e =T AT

=11:17 then x:y = (b) AT 4x + 3y : 6x+5y (D 12:18
© %=%='§‘= (IIT) 4:32 = 1117 5= ey

; 2 4 6
—_———= = =32
(d) Ifx:2 =y:3 and (IV) 2:1 © 3=¢79" (TII) 4:32

d) FREx2=y:3W@ av) 2:1
5x+7y =11 @ y:x =

=y forg o ferepet 9 welt S -

A. a-IIl, b-1V, c-I, d-II

B. a-1V, b-1, c-II, d-III

C. a-III, b-1V, c-II, d-1

D. a-ll, b-III, c-1, d-1V




. i Match the folIowing__

P 46. @t SISt STRT-
(a) The equation of a line @
o ax+by+c=—.0is (a) ax + by +c¢ = 0 F G T@r FT
(b) The equation of a linc
!:)erpendicular 10 ax+by+¢c =0
is

paralle]

(b) ax+by+c=0 %W}@T_ﬂ

iR
(C) ';l;h:iu]:tion of a line paralle] (c) ax+ by+c=0 o FHHET 3T
. +¢ =0 and pass;
through :rigin is A prsing TJIfare; & TR ST aTeft
(d) The equation of a line i
perpendicular to ax + by +c¢ =Q (d) ax+by+c=0 % g A g
and passing through origin ﬁiﬁ RIRL ST AT e 7 Fsfiapzor
List-II ' -1
(I) ax+by=0 (1) ax+by=0

(II) ax+by+k=0

(ITII) bx —ay+k =0 () ax+by+k=0

(IV) bx —ay =0 (111) bx~§y+k=0

Choose the correct answer from the (V) bx—ay=0

options given below- : A R fehe 7 € He 3w -
A. a-IIl, b-II, c-1V, d-1 - A, a-III, b-I1, c-IV, d-I

B. a-II, b-I11, c-I, d-IV B. a-II, b-III, ¢-1, d-IV

C. a-l, b-III, c-IV, d-II " C. al, bIIL, c-IV, d-II

D. a-IL b-IV, c-1, d-III i D

. a-II, b-1V, c-I, d-1II




Ab i
ase of an 1Sosceles trj

rlc 1S
24 _ ang 3
the M and its areq is 192 (:1112, then &F%er 192 aft? 2, CIECEd s &
Perimeter of the trianglc i
angle is-
A. 64 cm A 64 aTn
B. 63 cm B. 63t
C. 62 em C. 62
D. 61 cm D. 61 @t
—_______——__
. T 30°
48. An angle is 30° less than two times of 48. Ueh IV me%‘?ﬁ s
1S supplement angle, then the smaller 3 YT 10T BITTI-
- angle is-
. 0°
A. 110° & 1¢
B. 70° B 10
C. 400 C. 40
D. 30° D. 30
49. 49, ' 3
A person buys an article at % of its e ATeH 3§ Toh a5 36 4o 2 L
value and sells it for 20% more than @l e 38 3"'3%571\@@ 20% Afe= |
its value. The gain % of the person is- =) =IRE =T AT % B-
g .

A. 50% A 50%
B. 60%
C 40'; 5. oo

C C. 40%
D. 55%

D. 55%




p———

0. When a transvergy) Intersects

4

two

o v A e A A R

D. 80°

liﬂei‘w tthe: tWo lines wij; be parallel] if- a'}:ﬁ“{'@lﬁwmi‘;hﬂ* afe-
g;)) 12;22 a:temate angles are equal (2) a7rafeEn A 0T AT Bl
alternate anples ar . 5
unequal SICHHE (b) a7ialR SeRfedeh il Hﬁﬂqlq
(c) Exterior altermngge angles arc equal (c) 5T AR I T ©
(d) Exterior alternate angles arc (d) T Aepfeah 10T SFHAT B
unequal B ki Hifra.
Select the correct answer- .
a Al
A. aandb only A. Hdcla
B. aand c only B. maaﬂic
C. a,b,conly C. Faeta, b, c
D. a, bs d Only D. a:p_ﬂ_(:r a, b: d
31 The sum of an'angle and half of its 51. o fapet 10T AT I T T o AT

complementary angle is 75°, then 7T 75° & T 0T B
angle is- ' s

A. 4
A. 40°

B. 50°
B. 50°

C. 60°
C. 60°

D. 80°




52. Which of the following are the solids? _“?2_" ﬁmﬁﬂqﬁ;fm;ﬁm 27

(a) Cubc

(b) Cylinder

(c) Hollow cylinder

(d) Circular ring

Sclect the cortrect answer from the
following options-

A. a, b, conly
B. b,c,donly
C. a,bonly
D. c,donly

(a) T

(b) AT

(c) TAVEE AT

(dly Tefr e

Fre=t Wﬁﬁi&mﬁﬁﬂm’ﬁﬁ?{.
A, FAA 4, b, €

B. #Facib, ¢, d

C. #ada,b

D. #Adc,d

53.

A train 180 m long passes an electric
pole in 6 seconds. How long will it
take to cross a bridge of 240 m length?

A. 13 seconds
B. 14 seconds
C. 15 seconds
D. 16 seconds

53.

NG REUIE] oy AEATE 150 9, 20
et 35 @ T 6 FFIE H I F 7

ﬁ&ﬁfaﬂiﬁaﬁiﬁmoﬁ.%,é?m
) 3 e F8d T

A. 13 8F0EH

B. 14 @&vsd

C. 15%%ved

D. 16 @ved




55.

are 8 cm ang 9¢ Sofa Parallelogram

joining the engg of: t:‘lle::edl?gonal s § T S0 S8, €7 e
13cm. Its areq js. sides is Rerdt Y SirgY et férekot o e 13 Ay
A. 7 Clﬁz 2, a1 gahl EHT ©-
B. 12435 ¢ A. 72 8ft?
C. 2433 om?2 B. 12435 #ft?
D. 150 ¢m2 C. 244/35 @ft?

D. 150 at?
A merchanf buys a watch for Rs. 540 55. wF ST A Th U1 540 &, § @iy vet
and marks it as such price that he 39 7T AT ged Al R R 15% g2 3

make a profit of 19% after allowing a
discount of 15%. The marked price of
the watch is--

¥ qvETa 38 19% AT 21 92 F
3ifera AT 8-

A. Rs. 748 A, 748%2
B, Rsyid2 B. 752%
C. Rs. 754
C. 754%
D. Rs. 756
D. 756%
56. Of the three numbers first number is 56. o G § ¥, Teel de, qEd A
twice of the second and three times of T uE e S e T R Al 3 e

third. If their average is 88. Then the
difference of first and third number is-

A. 96
B. 48
C. 72
D. 144

88 T T JoIH T& a1 HEAT i 3 o-
A. 96

B. 48
C. 72
D. 144




e —

57. Equation of a line that passcs through 57. @@TWmEﬁﬁE mx

point A(2, 3) and make an angle of 45° w%aﬁrx-am%w 45° Ty
+h x axis. is 1i ts the line
with x axis. If thls.hne meets ‘ 3 af 7 X, e |
x +y+1=0 at point P, then distance sl P 5
AP is- x+y+l=0ﬁP a EEG ?h’-i,ﬁ
A. 2\/5 : Ap %‘
B. 32 A 22
C. 42 | B. 342
D. 5.2 C. 42
D. 5.2
58. The greatest number, that will divide 58. o gerd e G, [SEH 37, 56 T 933
37, 56 and 93 having the remainders 1, ﬁnﬁaaﬁq’fﬂqﬁ%ﬁ: 1,213
2 and 3 respectively- | T BT 2-
A. 6 p -
B. 12 A- _
C. 18 B. 12
D. 24 C. 18
D. 24

SPACE FOR ROUGH WORK / & &4 % foryr g



(&

Assertion [As] : T4 c

. on
decimal, we divide 5 vert 25% toa

5 by 100.

point one place to the left
Choose the correct answ '
following options-

A. !30&1 [As] and [R] are true and [R]
is the correct explanation of [As]

B. Both [As] and [R] are false,

[As] is true but [R] is false.

D. Both [As] and [R] are true but [R)]
1s not the correct explanation of
[As].

er from the

O

59.

oo [As] : 25% 1 STHET H AT

asﬁ—nzaﬂﬁaﬁrmoﬁ%mﬁﬂm%n

m[lt]:gﬁmﬂﬁwﬁmaﬁ%

Rra. gw qvmerE fig Y O T A

ST @ | |

A Ry e el & B S -

A. [As] T [R] EF Hed & 7T [R], [As]
) ge) AT 2

B. [As] T [R] 3 18 2

C. [As] e & T [R] #HA 2

D. [As] T8 [R] @1 9 & 90 [R], [As]
1 gt =T 7 Bl

. Assertion [As] : Small countries with

very high population tend to be
underdeveloped.

Reason [R] : Population explosion

leads to scarcity of resources.

Choose the correct answer from the .

following options- _

A. [As] and [R] are true and [R] is the
correct explanation of [As].

B. [As] and [R] are true but [R] is not
the correct explanation of [As].

[As] is true but [R] is false.
D. Both [As] and [R] are false.

O

60.

37 [As] @Hﬁﬁww
Bie 1 STfereRfer B 2l |
T [R] : SFTEEAT Rrewle daTet
Y Y SIS ST B

- Ru e fereket 1 A ST -

A. [As] W [R] 7 § T [R], [As]
el AT B

B. [As] W& [R] ¥ & 0 [R], [As] i
qeY s T8 8l

C. [As] 97 ¥ W [R] 39T 2

D. [As] T [R] ST 319 &

oy

" SPACE FOR ROUGH WORK / T s & fordr e

R R



61.

Direction : For the below Assertion
[As] and Reason [R], choos€ the
correct altemative : '
Assertion [As] : The conscculive sides
of a quadrilateral have one common
point.

Reason [R] : Opposite sides of @

quadrilateral have two common
points,

A. Both [As] and [R] are true and [R]
is the correct explanation of [As].

B. Both [As] and [R] are true but [R]

is not the correct explanation of
[As].

C. [As] s true but [R] is false.
D. [As]is false but [R] is true.

61,

a—mﬁ%mﬁqm“
P B, e o e
W[Aslﬂﬂ’iﬁ@fmmag;_,'
whoEtE g ey Ty
1T [R] : TS At Rty
A. [As]a‘ﬁT[R]ﬁm%%P
[As] % T2 Tt ) b
B. [As] ¥ [R]ﬁm%ﬁﬁ,m
[As] 1 T TR,
C. [As) 2T [R] 3wy

D. [As] 3@ 39 [R] Ty dy

Wﬁi{gﬁﬁ

62.

A man invested Rs. 1500 on a simple
interest at a certain rate and Rs. 2000

at 2% higher rate. The total interest in
three years was Rs. 750.

What was the rate of interes;c for
Rs. 15007

A. 5%
B. 6.5%
C. 6%

D. 5.5%

62.

qaaqﬁs?nsoo%wm
i et ot faer e o 20007 9y

mﬁa‘?atqtﬁéwﬁmlaﬁaﬁﬁgﬁ

TS 750 T STH § 411

1500 T fTra s e Fawr e o

A. 5%

B. 6.5%
C. 6%

D. 5.5%




“63. Match the l'nllm\'-iug-

Last-d List-11
(n) Speed = 1) I
Average speed
Speed
speed =
(c) Time = (1) Distance
Time
(d) Total: ) Total Distance
Total Time
Time o

Choose the correct answer from-the
options given below-

A. a-IV, b-I11, c-1, d-11
B. a-IIl, b-IV, c-1, d-1I
C. a-1V, b-III, c-II, d-I
D. a-III, b-IV, c-II, d-1

AT R AR B

g1 A1
|
=
AU
. I - e
(1y) sl =i = (1) e
amy
»y TG =
ORI e
0 kA
(d) 3 (v) 77 TR

A. a-lV, b-11I, c-1, d-II
B. a-III, b-IV, c-I, d-II
C. a-IV, b-III, c-1I, d-1
D. a-III,.b-T\, c-II, d-I




64 ' : —— —
* Match the number of faces with its 64. frey sarfirefier smrepfodl i IR FTF
related geometrical shape- e A S AT
List-1- List-11
vl T gefl1 =
(@) Cylinder (1) 1 ]
(b) Cube an 2 (a) 3 (D
(c) Cone (1) 3 (b) == (m 2
(d) Sphere (IV) 6 () g@ (111) 3
Choose the correct answer from the ) e av) 6
options given below- o g =
2 frepedt o & Tl ST -
A. a-l1, b1V, e, d-II A e S
B. a-II, b-1V, c-I1I, d-] A adIL b1V, eI, d-IE
C. a-ll, b-1V, cII, d-] B. a-l, b-1V, c-III, d-I
D. a-IV, b-III, c-1I, d-] G. a-lIl, b-1V, eIl d-I
' D. a-1V, b-III, c-1I, d-I
6S. If each of the dimensions of a 65. afe U 37rad % T AEH HT 100%
rectangle is increased by 100% its area T fEar s At 36k A% ¥ gig grfl-
1s increased by-
A. 100% . LRk
B. 200% B. :200%
C. 300% C. 300%
D. 400% D. -00%
General Knowledge | - qQH 7T
66. The original Constitution of India was 66. I =1 He wfeam e g swafaias
handwritten by ------, foraT T/ 9o
A. Raf.i_ Ahmed Kﬂldvfrm A. T srewE fiaad
B. Kailash Nath Katju s
C." Prem Bihari Narayan Raizada B. ™ L
D. Kanhaiyalal Maniklal Munshi C.. s forrdY Amrror e

D. ﬁwmﬁmgﬁ

SPACE FOR ROUGH WORK / T &4 & forr s



Mﬂwh the following,

List-1
) Sarkaria Commissiop
o
o) 11" Finance Commission
(©) Second Administratiye
Reform Commission

@) Voter’s fake registration
List-II

1M 1998

(1) Photo Identity Card

(111) 1983

(IV) 2005

Choose the correct answer from the
options given below-

A. a-lIl, b-1V, c-1, d-11
B. a-llIl, b-I, c-1V, d-1I
C. a-ll, b-IV, c-1, d-I1I
D. a-IV, b-Il, c-1II, d-1

A oIl b-IV, ¢, d-11
B. a-III, b-1, eIV, d-11
C. aIL b1V, ¢-L, d-TI
D. aIV, b-IL, c-I1, d-I

. Which is the national vegetable of 68. v 1 T WSl i €7
India? '
A, g
A. Pumpkin -
B. Potato B., 3,
C. Cabbage C. wwrdt
D. Carrot D. TR
S

SPACE FOR ROUGH WORK / T &7 % Rt swwre
_ _

s e —  ——



¢h List. With List-11 and find the 69. g=i-1 1 gelt-11 A VTR

Corre : 0
belo\:_t answer from the codes given 7 e § Fell I 1 =1
List-1 (Author r-ﬂﬁl st
(@) Dadabhai Naorji (a)
()  Jawaharla] Nchru (b) SRR
(©) Maulana Azad (c) HrerT TS
(d) R.C.Dutt (d) TEAZT
List-11 (Book) -1 (T57)
(I) Discovery of India A ﬁmm
(II) India Wins Freedom o o P 1
(IIT) Poverty and Un-British Rule in () e _
India (1rry e wwe - e 7 e
(ng Economic History of India (IV) FeRTTIE el 3T gfea
ode: : '
Hc:

A. a-I, b-Il, c-111, d-IV
B. a-1V, b-], c-II, d-III
C. a-Il, b-III, c-I, d-IV
D. a-III, b-1, c-II, d-IV

A. a-I, b-II, c-I11, d-TV
B. a-IV, b-I, c-II, d-III-
C. a-II, b-III, c-I, d-IV
D. a-IIl, b-1, c-1I, d-IV

70. Arrange chronologically- 70. HIETTEhitES T § T RId Hi-
(a) Jallianwala Bagh massacre (a) SfeTataTet ST §cThIS
(b) Civil dis_obedience movement (b) T S7aTT A=<l
ESI)) ggg-iiiﬁeﬁ?i\;mrﬁﬂtemem (c) T BIST HAT=Ter
Choose the correct answer from the (d) EEAIT =T
following options- frer feg e et & & Wt SAT -
A. ab,c,d A. ab,c,d
B. d,c,b,a B. d,c,b,a
€.a,dbc C. a,d,b,c:
D. b,c,d,a D. b,c.d, a

SPACE FOR ROUGH WORK / T& &1 & ford smig



“#1. In which of the follow

Il L]
Queen \ ICtoria assum

S—

ing year did 1. et fa e i v ffar 1

Empress of fidiog ¢ the title of 7T Y armraly #h 3rfer sareor 26y 4o
A. 1876 A, 18764,
B. 1858 p. 18584
C.
s 1885 %,
D. 1892
D. 18924,
72. Make ﬁ.le pairs of chicf rivers of India 72. i o @ A 7 = 3
and Itf}eirlorigin. T
Last-1 List-11
- =1-1]
(@) Godawari (1) Sihawa Gl
(b) Mahanadi (1) Nasik (a) R () P
(¢) Krishna  (I111) Yamunotri (b) TETET, (1) e
(d) Yamuna  (IV) Mahabaleshwar (c) FoT (111) A
Choose the correct answer from the (d) T (IV) FerEeat

options given below-

A. aI, b-I, c-IV, d-III
B. a-IL b-IV, c-I, d-III
C. a-IV,b-], c-III, d-II
D. a-l, b-III, c-II, d-IV

fr3r e T Repedt # & TE I -
A. a-l, b-Iye-IV, d-IIT

B. a-ll, b-IV, c-l, d-II1

C. a-lV, b-l, c-1II, d-II

D. a-I, b-1II, c-II, d-IV

73. Shivasamudram Hydroelectric Project 73. Rramemsd sto-fagd giErsET e T g

is located in which state? 27

A. Tamil Nal_:lu A m

B. Maharashtra

C. Andhra Pradesh | , Go TERr=

D. Kamataka C. W
D. FicH

SPACE FOR ROUGH WORK / Th i & ey smre



74.

Where are the hills of Abujhmad?
A. North of Dandakaranya

B. South-West of Dandakaranya
C. East of Dandakaranya
D

. North-East of Dandakaranya

—_—

74, Wﬁ%@ﬁ'ﬁ%ﬂ

75.

Match the following-

. List-1

(I) Banking sector reforms

(IT) Capital account convertibility
(III) Monetary policy reforms
(IV) Inflation targeting

List-II

Tarapore Committee

Urjit Patel Committee

(c) Narasimhan Committee

(d) Chakravarti Committee
Choose the correct answer from the
options given below-

A. I-c, II-a, III-d, IV-b -

B. I-a, II-b, III-c, IV-d

C. I-d, II-c, IlI-b, IV-a

D. I-a, I-c, III-b, IV-d

(a)
(b)

75.

S

T I A

s o 2 9P A

(i) = fifa gam
(IV) WW

(@)
(b)
(c)
(d)

Ee!
arar aftfa
ffa qeet @iHfd
TeftieT |fafa
ehadi GiHia

s fe e e & T SO T

A.

B
C.
D

I-c, I-a, II-d, IV-b

. -I'a, ]:['by m—c’ W—d

I-d, O-c, III-b, TV-a

. I“a, H-C, m"'bs w_d

SPACE FOR ROUGH WORK / & &4 & ford g



@zed sector of Indian o ———
' 76.

r of IIldian money
market includes-

() Certificate of deposit market
() Commercial paper market
() Treasury bill market

A1 and IT (111) ?ﬁ’ﬁﬁam
2 .
C. Tand III B @I
D. I, Il and 111 .
C. 1@l
D. 1,11 wd I
The problems of cement industry are- 77. iz 3 gEed E-

A. Poor quality of coal

B. Burden of high tariffs

C. Underutilization of capacity
D. All of the above

A. Frer ki = oTEn

« What is the main site of

photosynthesis?
A. Leaf
Stem
Chloroplast

oow

. Guard cells

78.

. T IR

SPACE FOR ROUGH WORK / % &4 & fordr g



79.

The fact/s related to Rashtriya

Madhyamik Shiksha Abhiyan (RMSA)

is / are-
(I) It was started in 2007.
(II) In year 2013-14 Inclusive

-

79. WWWW(WSA
)

Gefra aa g/ 2-
(1) R ST 20071&%%
(11) 3'552013—14'&39‘%&%

Education and Vocational e Tel I 'iﬁm"%
education was integrated in this HHTERTH fehdT T4
an scheme. (1) 757 2T T 3e3T 12-13 T
This scheme targets to cnsure X
i i - students of g ® " ST ]iﬁiﬁﬂa
quality education for st . S N
12-13 years age group. ,Jee .“” g . PATRI
(IV): The facility of ICT and girl’s (1v) Ten 4 ICT @mmﬁfﬂ#
hostel in school is an important WWWWWQ
dimension of this scheme. AT 2] kS
A. OnlyII
d A. Had Il
B. Iand IV both
C. T and IV both B. 3fIV &
D. LIl and IV C. ISV I
D. I, 11 3RV
80. There are ------ steps in complete 80. Tquf T TSI ATHA H - TR
Surya Namaskar Asana. A8
A. 8
B. 10 B. 10
C. 11 C. 11
D. 12 D. 12
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Current Affa;

Naﬁonal_lnte::;fft?orts,' __H—_____—___ ARETA I TSR,
. ional Eerehs, Jvr-farm
e .
., Wmcl}countfm o o forer 3w 3 st 3 ol i
malaria vaccine for children? ) o ma FEﬂ?‘ ' | '
‘A. Kenya aﬁwﬁ%?
B. India A F
C. Ghana ' B. WR&
D. Cameroon C. ar
D. H&A

. Which Indian state launched the

“Mukhyamantri COVID-19 Bal Sev - m-w B COWD'I? iy
Yojana’ to support children orpha (:1 Sl Sl ‘w GOVED-
rphane
by COVID-19? 19 STe &alT AT & 17
A. Utter Pradesh A, LI
B. Maharashtra B. HENIS
C. Tamil Nadu | | C. aftreg |
D. Gujarat D. EFRTH :
3. Which Indian state was declared the 83. forg T TS Al BT ‘SR Sl TST

“first ‘Har Ghar Jal’ state, ensuring

every rural household has a tap water

~ connection?
A. Punjab
B. Kerala

- C. Goa

D. ..P_I'aryana

ST TTHIOT ST 3 7T ST I B
A. 9SS

. B. AT (FE)

C. T (i)
D.. &GO

SPACE FOR ROUGH WORK / % 4 & fordy e
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84. Match the following- 84, de AL A

List Lisel a1 2
(a) 2023 Men's (]) :(;]m'(jnrt'i (ﬂ) 2023 W?ﬁ:{ (N Qﬁ%ﬁﬁa@q
three Tennis Richardson Sye iz =
Grand Slam g
winner ferstam v S
(b) 2023 women's (1) Novak (b) 2023 wfger 100 (1D
100 m Sprint Djokovic AR to CAC IR REN
\ Champion (1) Mo (c) 2023 FIRT TS (IH)WER'-%EW
¢) 2023 FIFA a -
( World Player Verstappen =R ﬂ_‘m S ety B
of the year _ (d) 2023 wrferr 1 (V)
(d) 2023 Formula 1 (IV) Lionel Messi Sz =
World Champion ) o o et & HET I -

Choosec the correct answer from the

options given below- A. a-Iv, b-IIL, c-I1, d-I

A. a-IV, b-111, c-11, d-1 B. a-II, b-1II, c-IV, d-I
B. a-II, b-11I, c-1V, d-1 : C. a-II, b-IIl, ¢-1, d-IV
C. a-II, b-111, c-1, d-IV D. a-II, b-I, c-IV, d-1II-
D. a-lI, b-1, c-IV, d-III

SPACE FOR ROUGH WORK / T% & % fordr g



55 Consider the following statement

regafdin_g the United Nations and the
International Year of Millets
Choose whether the Assertion [As)

and Reason [R] are true, if the Reason
[R] supports the Assertion [As].

Assertion [As] : The United Nations
declared 2023 as the International
Year of Millets,

Reason [R] : Millets are known for
their high nutritional value and
resilience to climate change.

A. Both [As] and [R] are true, and

[R] is the correct explanation of
[As].

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[As].

C. [As]is true, but [R] is false.
D. [As] is false, but [R] is true.

85. sl % 31

& oo ot 9 R

ﬂ?!ﬁFWE:THT[AS]aﬂTm[RJW%,

aﬂrmwm]m&mslwwhm

i:zn[;\s]:rjg?ﬁrq?fzozwﬁww

srrerer = e Tl

m[k]:aﬁmmﬁwﬂpﬁr{

STt 2l

A. [As]aﬁt[R]aﬁw%:ﬂﬁt[R],
[As]m%"rmﬂT%l

B. [As]aﬁT[R]iTﬁW%,éTfﬁ{R],
[As]maﬁrmmqfﬁ%l

C. [As] T 3 AR [R] 7 €1

D. [As] Tad & SR [R] F &

General Knowledge of State

< hT ATHTT AR

86.

Which Ruler built the Madwa Mahal
Inscription?

A. Ahiraj

B. Gopaldev

C. Jaypal

D. Ramchandra

86, fpe ITEE 3 HeaT A Rieerd ffid

T T2
A. 3T
B. TTered
C. ST
D, TR

SPACE FOR ROUGH WORK / 1% &4 o fordr e
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87. :
Who among the following W8S not

related tg extremist ideology?
A. Barrister C. A. Thakkar

- B. Laxmanrao Udgirkar

C. Th'aku_r Hanuman Singh

" D. Pt Ravishankar Shukla

-

87. e H A R Furadt oA A i

et 99
A. sfuegdl, T 3FR
B. @enme ISRt

C. I e f6E

- D. o, et JFT

38.

Match the following-
List-1
(Organization)

(a) Chhattisgarh Sudhi Sangh

(b) Chhattisgarh Anti Exploitation
Association

(¢) Chhattisgarh Mahasabha

(d) Separate Chhattisgarh Party
List-1I .
(Related Person)

()  Thakur Pyarelal Singh

(I) Dr. Khubchand Baghel

(III) Pawan Diwan

(IV) Pt. Shivdas Panday

Choose the correct answer from the

options given below-

A. a-IV, b-II, c-1II, d-I
B. a-II, b-I, ¢-III, d-IV -
C. a-l, b-1V, c-1, d-1II
D. a-IV, b-1, c-II, d-III

88.

1 e -

s

(FE) _
(a) TAETE gt == '
(b) TUETE irgor ferrelt €
(c) THETE TrEaHl

(V) . Rreem s

2 fog T fyeeedt F &l I HA-
A. a-IV, b-II, c-111, d-1

B. a-ll, b-l, c-1II, d-IV

C." a-IL, b-1V, c-I, d-111

D. a-l1V, b-1, ¢-1I, d-III

SPACE FOR ROUGH WORK / % & 3% R wrg
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§9. Assertion [AS] : Somvanyh; ruler

90.

?luvagupla used to bear the title of
Pamrmzmahcshu'ar‘.

Reason [R] ; Sonvanshi rler

Shivagupta was g follower of Shaivite.
Choose the correct answer from the
following options-

A. Both [As] and [R] are true and [R]
is the correct explanation of [As].

B. Both [As] and [R] arc truc but [R]
is not the correct explanation of
[As].

C. [As]is true but [R] is falsc.
D. [As]is false but [R] is true.

e e e

e s —

B9, iert (As] : T Zies farey

m———

aqupntga ) 3y s s 4

e (R : el e e A

narrEretalt ol

N Rer a7, Rt 1 3wl Iew -

A. [As]aur[R] 2w e &, 37 [R],
[As] 7Y e Zrmeen 2

B. [As] @4l [R] 31 HE 2 77 [R], [As]
=Y e P TEf 2|

C. [As] %@l &, 7% [R] Tere 21

D. [As]erd €, 94q [R] &1 21

When was the first martyr of

Chhattisgarh, Veer Narayan Singh,
hanged? |

A. 10 December, 1856
B. 10 December, 1857
C. 10 December, 1858
D. 10 December, 1859

. TG % e YT e A fiE

el BT O TSR 1337 T 9
A. 10 feHs, 1856
B. 10 fedsw, 1857
C. 10f3€exR, 1858
D. 10 fewew, 1859

Child Psychology

T AATSTT

91.

Who among the following has
explained various stages of cognitive
development in children?

A. B.F. Skinner
B. Lev Vygotsky
C. Jean Piaget
D. Erik Erikson

. it # & frem et RS

forepmer 3 fafirr <reont Y wweman 22
A. i U =R

B. & TMEEh

C. S s

D. Ut iy

SPACE FOR ROUGH WORK / % &4 % R syarg
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92. Match the following stages of Erik 92. ufter uftEH 3 AR ETATISR (o
Erikson's pqychoqncml development RrerifRe =it =t Ik AT 33 %m-q
with their corresponding conflict. g‘\tﬁ"l‘d AR

Stages Conflict .
(a) Infancy (1) Autonomy v§ il L

Shame (a) Prgrem (1) T AT g

(b) Early (I Industry vs (by wrifim (1) ECLCRIERIEE

Childhood ln{'crit.n'ily AT
(c) Play Age (111 gl:]liilr:llvc Vs (o T sm (1) gt FATH Y 3
(d) School Age (1V) Trust vs Mistrust (d) TITET ATg mi') [ELELL] «T—rrﬁraxﬁw
Select correct answer from the options fgu o foFeti 4 4 A2 I H T
given below- A a1V, b1, c-111, d-II
A. a-lV, b-I, c-111, d-11 B. a-II, b-111, c-TV, d-1
B. a-II, b-II1, c-1V, d-I C. a-I, b-1IL, c-1V, d-II
C. a-I, b-III, c-1V, d-II D. a-III, b-I1, c-1, d-IvV

D. a-III, b-II, c-I, d-IV

SPACE FOR ROUGH WORK / % & & o sre



93. Information

d _ sharing may be broken 03,
own into confidentiality, privacy and frariga s # =1 4 frfaa Fem =
privileged Communication, f;l
Assertion [As] : Confidentiality i Ty
. S Miality is the o £t 2
crucial aspecet and ethjca] duty of TR | A8 TIRIHRT eI
counsellor, nreA ot e v Ao FA 2
R‘:’as‘““ [R]: Confidentiality ensures FIT [R] mr;:fmmtmqvﬁﬂgﬁf’ﬂ 7T
client that information will be Felt & B STt At v
protected from unauthorised . e L
' i) r F, v A = T
disclosure and they fecl safe and gri“&m Y0 5 e ek e T
supported. Ftd &l
A. Both [As] and [R] are truc and [R] A. [As] W [R] 3HI 69 2 T [R], [As]
is the correct explanation of [As]. 1 3fa T R
B. Both [As] and [R] are true but [R] . e S S
. A [R '
1s NOT the correct explanation of B. [As] -U‘a R ZFIETS . X
[As]. [As] T 3faa TqdERr 72 2
C. [As] is true but [R] is false. C. [As] ¥ 8 9 [R] HA 2
D. [As]is false but [R] is true. D. [As] 38T 2 4ig [R] 9T 2
94. Which steps are essentially involved 94. TEATeHs foiae & IR ST H S F
in early stages of creative thinking? =07 A = | giigfag wa 22
(a) Orientation (b) Preparation ) ST Sy
(c) Incubation (d) Verification @ ®)
Select the correct answer from ©) .3 L _ (d) eI -
following options- iR ferredt & w2t st T S -
A. aandd only A FFaTdd
B. aandconly B a’ﬁﬁa@c'
C. a,bandconl ' .
Y C. e a,bTd ¢
D. b,canddonly :
D. &aeb, c @ d
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Basis of individual differences are-
A. Personality and Creativity

B. Heredity and Environment

C. Intelligence and Problem Solving
D.

Motivation and Concept

Formation
—
96. According to Freud, which stage of 96. WA H eagmt.qﬁl!il'ﬁm ferhTer 3 g
psychosexual development is <ror 3 forg wfY wE T wAR
characterized by the Oedipus complex ﬁ':?fd;]'?T"a‘%?
and Electra complex?
ef: a comp A T
A. Anal stage
B. Oral stage B. I\JI@IE] il
C. Phalljc stage C. dfirer qaer
D. Genital stage D. I 3TeEdT
97. Arrange the following stages of 97, Sy w5 iR = i &
guidance process in correct order. 7} syafeya i)
(a) Collection of information ' (2) ST T SUE

(b) Follow up

(c) Identifying the need
(d) Providing information
(e) Rendering guidance

A. ab,e,c d (e) |Elaﬂl=l T qida1eA
B. a,c, ds <, b A. a, b, €, C, d
C. bt C?: e ca B. a, C, d, €, b
D. c,a, d,e,b C. b, d, €, C,a
D. c,a,d,e, b
—
e

SPACE FOR ROUGH WORK / % &a % fordr wrre
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98. ?flultiple intelligence theory is 98. g qf& H Ryezfa wferafea fre 2-
Ormulated by- ;
. A, e
A.. C. Spearman
B. L. Thurston B. G,
C. R. Cattel] C. . Hfeer
D. H. Gardner D. U, MER
99. Identify the main strategics of 99. gwrerelt farer 3 ﬁﬂtﬂﬁ T T

inclusive education for children with arTereh wd frafim Rrenf = e gqa
special need and regular student. o Sl gE= I

(a) Least restrictive environment e SRE e ST

(b) Main streaming (@) =% )

(¢) Programmeéd learning (b) FETHW

(d) Full inclusion (c) eHTshfHe ST

Select the correct answer from (d) ot gHETE

following options- ﬁ%wﬁwﬁﬁwm -
A. aandb only . )

A. FaTaTEb

B. aand c only

C. a,bandd only B. &9atc
D. a,band conly C. %ada, bUd d

D. &ad a,bTdc
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100. Give the correct sequence of the
personality development as per
H. Sullivan’s theory.

- —
100. T=. ﬁ'&ﬁaﬁ%%m%%
ﬁmwﬁmml

N

(a) Organization of expericnce A 7 Y sy
(b) Period of becoming social o e
: ey =y
(c) Completeness of interpersonal (c) W o o
relationship (d) Ad feram =T

(d) Zone of interaction (©) N UICREL
(e) In:n;ate rclationship A o b d,ea
;. Ca sbs:::l:gﬂ B. ﬂ’c’ b, d,c

. g oy Uiy Uy C
C :l;eac C. d,b,e 3¢
D. d, a:bs ca ) D. d, a, b, e,C

. 3 ? b} e
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